Attica Intermediate Classical Greek

II.

Exercise Three Key

Form Identification. Identify the following forms. List all possibilities.
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netoBelg: nom./voc. sing. m. aor. pass. part. of melOw
émauvoin: 3+ sing. pres. act. opt. of énmavéw

Nv: 1%/3rd sing. imperf. ind. of eiul

¢$uywv: nom./voc. sing. m. aor. act. part. of pevyw

éAeye: 3rd sing. imperf. act. ind. of Aéyw

éfétaowv: acc. sing. f. of é£étaoig, -ewg, 1

napwBovpévoug: acc. pl. m. pres. mid./pass. part. of mTaQwOéw
yevopévwv: gen. pl. m./n. aor. mid. (deponent) part. of yiyvouou
€£6v: nom./acc./voc. sing. n. pres. part. of i

el 2nd sing. pres. ind. of eiui

niaporyevéoOal: aor. mid. (deponent) inf. of maaryiyvouo
oUg: acc. pl. m. of 8, 1j, 6 (rel. pron.)

pediotavtat 3 pl. pres. mid./pass. ind. of peOlotnput
moAtrt@v: gen. pl. m. of moAitng, -ov, 6

aofac: nom./voc. sing. m. aor. act. part. of &gxw

étiparto: 34 sing. imperf. mid./pass. ind. of Tipaw
ovppueinoav: 31 pl. aor. pass. opt. of cLEPEwW

neglowoaot: dat. pl. m./n. aor. act. part. of eglowlw
neppOnvaL: aor. pass. inf. of méumw

0£00auL: aor. mid. inf. of TiOnuL

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the dictionary in the back of this textbook.

1.

SN

10.
11.

12.
13.

14.

nxBovto: axOopal, axBecOnoouat/axOécouat, ---, ---, ---, Nx0€cOnV; be annoyed, be
grieved

Arpporto: AapPavw, Afpopuat, EAapov, eiAnda, eiAnuual éAndOny; take, seize, catch
aneAnAvBeoav : amégxoual, ---, annABov, anéAnAvda, ----, ---- ; go away

elwv: Edw (imperf. elwv), éaow, elaoa, elaka, elapatl, elaOnv; allow, permit
OUVIOTAHEVOL: CUVIOTN L OLOTHOW, CLVECTNOM/OVVEDTNV, OLVESTIKA, ---,
ovveotdOnv; gather, form

YVOVTEG: YIYVWOKW, YVWOOHAL Eyvawy, Eyvwka, éyvwopuat, €yvaoony; judge, form a
judgment, know, think

éEopunoac: é£oguaw, éEopunow, éEwpunoa, éEwopunka, éEwounuat, ¢Ewounonyv; urge
ATIOKTEVODUEV: ATIOKTEIVW, ATIOKTEVQ, ATIEKTELVA, ATIEKTOVA, ---, -— ; kill, condemn to
death

AoPalel: aoPaAr|g, -£c; safe

anoonuivacOat: amoonuatvw, ---, AMEC UMV, ---, ---, --- ; confiscate (mid.)
AVTEKOTITE: AVTIKOTTW, AVTIKOYw, avtékopa, ---, ---, --- ; resist, oppose, stand in the
way

Aafetv: AapBavw, Apopat, EAapov, eiAnda, eiAnpual éANdONy; take, seize, catch
pedé€ovtag: petéxw, pebélw, petéoxov, petéoxnka, ---, --- ; share in, share, share in
something (+ gen.) with someone (+ dat.), take part in (+ gen.)

KATAOTACEL KATAOTAOLS, -£wG, 1); constitution, system
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Iv.

15.

16.

17.
18.

19.

20.

veyevnueOa: yiyvouat, yevijoopatl, Eyevouny, yéyova, yeyévnual, éyevrionv; happen,
occut, arise; become, be

BovAevtag: BovAegvtrig, -0V, 6; councilor, member of the Council of the Five Hundred (in
Athens)

tetoadBat Teémw, TeéPw, Etoea, Tétooda, Tétoappal, ETEPONV/EToamnv; turn, rout
naQoryyeldavtec: magayyéAAw, magayyeAw, maQryyella, magryyeAxa,

TN YYeApaL, aonyy£EAONV; report, transmit a message; order, give orders

AVAOTAG: AVIOTNHL, AVAOTNOW, AVEOTNOA/AVEDTNV, AVEOTNKA, ---, AveoTAOnV; break
up (tr.); stand up, rise up to go (intrans.)

niapeidovto: magadaupdvw, agaArpopual, aéAapov, TageiAnda, magelAnuual,
naeeANpONV; receive

Accent Drill. Place the correct accents on the following words and justify your choices.

1.

10

11.
12.

dvvapeOa: Verbs have a recessive accent (R1.4). Ultima is short, therefore antepenult
may be accented (R1.4.1).

Avpaivetau Verbs have a recessive accent (R1.4). Ultima is short, therefore antepenult
may be accented (R1.4.1).

yvwun: Nouns take a persistent accent (R1.5). No need for change.

xonuatwv: In the nominative singular case, this noun is accented over the n (xonua). In
this genitive plural form, the accent must shift to penult because the ultima is long
(R1.3.1).

ntovneois: Nouns and adjectives of the 15t and 2nd declension that have an acute on the
ultima in the nominative singular will take a circumflex in the genitive and dative,
singular and plural (R1.5.4).

orjuov: Since the ultima is long, the accented penult cannot take a circumflex, even
though it is long (R1.5.3).

duyelv: 2nd aor. inf. takes a circumflex on the ultima.

onuov: An accented penult, if long, must bear the circumflex when the ultima is short
(R1.3.3.3).

amexgivarto: Verbs have a recessive accent (R1.0. Ultima is short, therefore antepenult
may be accented (R1.4.1).

noArtelat: An accented penult, if long, must bear the circumflex when the ultima is short
(R1.3.3.3).

tc: This is the expected accent for the genitive sing. of the definite article.

éiketvot An accented penult, if long, must bear the circumflex when the ultima is short
R1.3.3.3).

Translation Strategy Practice. Each of the following sentences includes an indirect statement
construction (R7). For each sentence, determine the type of indirect statement construction is
being used. Then translate the sentence.

1.

0 Kottiag ¢pnot tov Onpapévny tovg otoatyous AMOKTEIVOL KATITYOQODVTA.
Construction: acc./inf. construction of indirect statement introduced by ¢not (R7.1)
Critias says that Theramenes killed the generals by accusing <them>.

0 Onoapévng eimev OtL ol TELAKOVTA OVO TA EVAVTLWTATA TIOATTOLEV.

Construction: 6ti/awg construction of indirect statement set up by eimev (R7.3). Verb of
indirect statement is in the optative mood because ¢imev is a secondary tense.
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Theramenes said that the Thirty were doing two most opposite things.

3. ot AOnvaiot f)decav MOAAOVS &V 1) moAeL Al dmoAovuévoue.
Construction: participial construction of indirect statement introduced by 1jdoecav (R7.2).
The Athenians knew that many in the city would die of hunger.

4. 0 Onoapévng éAeyev OTL 0K eikog el Bavatovv Tva 0G HEV ETIHAaTOo DTIO TOD 1oV,
TOUG d¢ KAAOUG KAyabolg undév kakov elgyaleTo.
Construction: 6tt/wg construction of indirect statement set up by éAeyev (R7.3). Verb of
indirect statement is in the optative mood because eimev is a secondary tense.
Theramenes said that it was not reasonable to kill someone who was honored by the
people, but who was doing no harm to the good and noble men (i.e., the oligarchs or
aristocrats).

5. ot ABnvaiot govto &vdoamodioOnoeodal DO TV AakedalLoviwy.
Construction: acc./inf. construction of indirect statement set up by ¢ovto, a verb of
thinking (R7.1). Since the subject of the infinitive is the same as the subject of oovto, it is
omitted.
The Athenians thought that they would be enslaved by the Lacedaemonians.

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. toic Aakedatpoviog ol AOnvaiol ovmote av Ppidot yévorvro.

The Athenians would never be friends with the Lacedaemonians.
vévouvto: 31 sing. aor. mid. (deponent) opt.; potential optative (R8.5)

2. €L €KEIVOG €& ARXNG TaDTA €yLyVwokeV, o0 HEVTOL TOVNQEOGS Y v ducaiws évouileTo.
If that man were thinking these things from the beginning, he would not justly be
considered base, of course.
évopiCeto: 3 sing. imperf. pass. ind.; apodosis of a present contrary-to-fact condition
(R10.5).

3. €0V owPQOVNTE, TOVTOL TOD KakoD oV ¢pelgeaOe.

If you are wise, you will not spare this evil man.
¢detoeoBe: 2nd pl. fut. mid. (deponent) ind.; apodosis of a future more vivid condition
(R10.4)

4. AVoavdQOG eig Ta i Opakng xwola Emeppe déka tomjoels Exovta Eteovikov.
Lysander sent Eteonicus into the lands of Thrace with ten triremes.
£xovta: acc. sing. m. pres. act. part.; circumstantial participle modifying Etedvucov
(R6.2). In a military context, participial forms of éxw are often translated as “with”
(52068a).

5. 0 AVoavdog dnwoac LaAapiva wopioato meog tov ITepalx vavaot mevtkova kat
EKATOV.

After Lysander ravaged Salamis, he anchored near Piraeus with 150 ships.
vawot: dat. pl. f. ; dative of military accompaniment (R3.3.11)

6. ol AOnvaiot émeppav meéoPelc mag” Aytv, BovAdpevol COUAXOL lval TOLG
Aaxedarpoviols Exovreg ta teixn kat tov Iepaua.
The Athenians sent ambassadors to Agis, since they wished to be allies with the
Lacedaemonians while still having possession of their walls and Piraeus.
BovAduevor nom. pl. m. pres. mid. (deponent) part.; circumstantial participle modifying
ol ABnvaiot (R6.2)

7. 0 Ayic tovg ABnvaiovg eic Aakedaipova ékéAevev éval
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10.

Agis ordered the Athenians to go to Lacedaemonia.

ABnvaiovg: acc. pl. m.; ékéAevev, a verb of ordering, takes an acc./inf. construction
(R5.1). ABnvaiouvg is the subject accusative of iévat

ot ABnvaiot eimov 6tL avtol AvdEamodioOrjoovTo UTIO TV Aakedatpoviwy.

The Athenians said that they themselves would be enslaved by the Lacedaemonians.
avdpamodioOrjootvto: 31 pl. fut. pass. opt.; optative in éti/awg construction of indirect
statement after secondary main verb (R7.3)

ol v AOnvaiwv moAAolL €v 1) TOAeL AlUQ ATOAOLVTO Av.

Many of the Athenians in the city might die of hunger.

amoAotvro: 3 pl. aor. mid. opt.; potential optative (R8.5)

émet Agxéotoatog édr €v 1) FOVAT KQATIOTOV gival elprivny ToteloOat, £d£0m.
When Archestratus said in the Boule that it was best to make peace, he was imprisoned.
elval: pres. inf.; infinitive in an acc./inf. construction of indirect statement (R7.1).
KQATLOTOV eival is an impersonal construction meaning “to be best.”

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what is incorrect, and write a correct translation.

el AVoavdog ot tva mov dAAov ABnvaiov, amomépetev av eig tag AOnvac.

If Lysander saw some other Athenian somewhere, he sent him back to Athens.

Correct translation: If Lysander should see some other Athenian somewhere, he would
send him back to Athens.

Error: This is a future less vivid condition (et + opt. ... opt. + av) (R10.4), not a simple past
condition (R102).

oL oAAais Npégalc botepov NADev €€ AONVaV Oupoxaens ExwV vag OALyag.
Thymochares came from Athens in many days with a few ships.

Correct translation: Thymochares came from Athens with a few ships not many days
later (or, a few days later).

Error: moAAaic Njuéoaus is a dative of degree of difference (R3.3.8) with the adverb
Votepov (which was omitted in the translation).

TeEXWV kataokapévtwv ot ABnvaiot jdecav Exetvnyv v fuéoav 1) ‘EAAADL
agxovoav g éAevBeolac.

After the walls had been torn down, the Athenians knew that that day would be the beginning of
freedom for Greece.

Correct translation: After the walls had been torn down, the Athenians knew that that
day was the beginning of freedom for Greece.

Error: &dpxovoav is a present participle, not a future participle. This sentence contains a
participial construction of indirect statement (R7.2) and doyovoav represents an original
present indicative.

ol Aacedatpdviol TEOVKAAODVTO TV HAKQWV TELXWV déka otadiovg kabeAetv.

The Lacedaemonians will propose to tear down ten stades of the long walls.

Correct translation: The Lacedaemonians were proposing to tear down ten stades of the
long walls.

Error: mpovkaAovvto is an imperfect, not a future. Note that the augment (¢) has been
contracted with o of the preposition to produce ov.

tolg ABnvaiolg €dole mapaokevAalety TV MOALY WG €lg MOALOQKiAV.

The Athenians prepared the city for a siege.

Correct translation: The Athenians decided to prepare the city for a siege.
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It seemed best to the Athenians to prepare the city for a siege.

Error: £dofe was omitted. dokéw, when used impersonally, takes a dative indicating the
person plus an infinitive. It may be translated, “seem good/best.” It is also possible to
translate it more idiomatically taking the dative as the subject and translating the verb as
“decree” or “decide.”



